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Attempt all questions.
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1. With respect to a commercial organization,”’ the . «'g
following observations. have been made: . .. : e
T i §7e & 91 & Prafafg e e g -
() Each employee works under one of several .

departments. - ¢ v T
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(ii) Each department is headed by a Manager.
AT (39T F A Feud o g |

(iif) The organization is engaged in project work for its
clients.
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(iv) The employees working for a project may belong
to different departments.
e g & fau e w0 AR e e
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(v) The clients are billed for project work on the basis
of man-hours.
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(vi) The rate of man-hours varies from department to
department.
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You are required to analyze and conceptualizé above
organizational reality using ER Model and depict the
same as ER diagram. ’
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2. Attempt any one of the following pairs:
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(@)

(i)

i)

What do you understand by the databasc
normalization? How is the concept of functional
dependency useful in the process of database
normalization? '
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What do you understand by weak entity in the
context of ER model? Discuss and illustrate the
concepts of owner entity type, identifying
relationship type and partial key in dealing with
weak entity type.
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Or (319a1)

Describe the various uses of Internet to the
business and general public.
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“Internet is the cheapest and fastest means to get
information, provide information and compile
information.” Explain.
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3. Attempt any one of the following pairs:
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(i)

(@)

(i)

Discuss the constraints that are specified on a
relational database design.
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Differentiate among relationship type, - relation-

ship instance and relationship set.
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Or {(3194r)

What do you understand by World Wide Web?
How is this different from Internet?
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What-do you understand by Web Server? How
does it differ from Web Browser?
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